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Model (1)
Millions Thousands ones
Hundreds | tens | ones | Hundreds | tens | ones | Hundreds | tens | ones
2 3 5 4 7 4 9

d

A) from the previous table complete the following table :

The number in

b

C

expanded form

The Value of the digit

5 in the number is

Rounding the number to

the nearest million ~...

( B) complete the table :

The shape formula The area
9CM
oCcm A=sex 7 | T e
/cm
Y I A R ——




/o Nl 2\
(&7 Wil N2\ = N
t(le= “‘% .} pekaidly 4l 3)h9
| 2 ! @b.qj ixg.h.d" a::_',s,.d| E_)L:D’i

%"""ﬂ* m{.}é‘ﬁ | Oludb ! i CuSe
Model (2)
A) Use the following factor trees to find :
18

1 23913 1 2 3 4 6 12

1- The Valueof x =....... , The Value ofb =.......
2 — the greatest common factor ( G.C.F) of the two

numbers 12 and18 is............

3 — Find the result :

( B) complete the table :

The shape formula The perimeter

5cm

SCmEI =N L R,

cm

3cm:| p=( L+...... [ I —
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Model (3)

A) Match each of the following cards to the suitable cards :

The Value of the digit 7+ (60-15) =9 =
8 in the

number7,835,601

1,975 800,000 800 IE

B ) find the value of x in the following bar model :

the bar model The value of x

1,299 mL
1L X mL
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Model (4)

A) Use the following cards To find :

|“'

1) Five different numbers formed from 7 dlglts. b

llllllllllllllllllllllllllll

2) Arrange the numbers you made in ascending order:

3) Write The greatest and smallest number of numbers you have form:
The greatest number is.................

The smallest number is .....cccceeeeveees

4) the different between The largest and smallest number =...............

5) If the smallest number is rounded to the nearest hundred thousand , the
PESHIT 18 1. Bt oo cinssininassusnnonarsnsusnsasnens

( B) complete the table :

Length of the perimeter of the | area of the square
side square
S5cm & FhBsa. . e W Vi e
.............. 12m
I ﬂ  36m?
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Model (5

A)Choose the appropriate card from the box to complete the
missing numbers Iin each number sentence.

( use the card once )
1) 23,017+ 54,326=

2) 85,213,405,

(to the nearest ten thousand )

3) 9,000,000 + 6,000+ 350+ 7=

4) 60 x 10 =

.......

( B) complete the table :

5) 784+ 7=

Length of the | Width of the area of the Perimeter of
rectangle rectangle rectangle the rectangle
% &m BEM | i
5m
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Model (1)
Millions Thousands ones
Hundreds | tens | ones | Hundreds | tens | ones | Hundreds | tens | ones
2 0 3 5 4 7 4 9

A) from the previous table complete the following table :
a b

C

The number in

The Value of the digit | Rounding the number to
expanded form S in the number is the nearest million ~...
20,000,000 + 300,000 50.000 5
+ 500.000°F 20007 700, T 0,000,000
+ 40+ 9
( B) complete the table :
The shape formula The area
oCM ’
ocm A:sx_§___ 5 X5=25CM
2
/fecm W 3X7=2]1CM
IS ] B I e




# I | ..1:.'3 x.l = & = .
F e\ el A1 803
5/ aalall pglas) &3Syl 8ylaYI

o Sl byl s iSle
Model (2)
A) Use the following factor trees to find :

18

1 1 2 3 4 6 12

2 — the greatest common factor ( G.C.F) of the two

numbers 12 and18 is............

3 — Find the result :
18 x 12 = 216

( B) complete the table :

The shape formula The perimeter
9CM
SCmD Ny 5 X 4 =20 CM
— W (3+7)X2=20CM
3cm:| p=( L+...... [ I
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Model (3)

A) Match each of the following cards to the suitable cards :
number7,835,601

7+ (60-15) =9 = 4 x200 =
~ g

1,975 800,000 800 “

B ) find the value of x In the following bar model :

The Value of the digit

8 in the

the bar model The value of x
d
3000 + 128 = 3,128
1,299 mL
299
1L X mL
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Model (4)

A) Use the following cards To find :

1) Five different numbers formed from 7 dlglts. Lt

5,734,816 7,534,8187"3,754816 1,684,375 4,351,816

2) Arrange the numbers you made in ascending order:

1,684,375 . 3,754816 « 4,537,816 ¢ 5,734,816 ¢7,534,816

3) Write The greatest and smallest number of numbers you have form:
The greatest number is..Lana4.816

The smallest number is 1:684:375 7.534.816 — 1,684,375= 5,850,441
4) the different between The largest and smallest number =...............

5) If the smallest number is rounded to the nearest hundred thousand , the

result is 1'-700'000

( B) complete the table :

Length of the perimeter of the | area of the square
side square
5X4-20CM | 5X5-25CM
Scm U T ) g, S
12 +4 =3 CM X3-= CM2

6CM 6X.4.=.24.CM T 36m?
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(1)

(Numbers and Statistics)

The Egyptian state spends on many projects in the field of roads
to facilitate traffic. It also spends on constructing bridges and tunnels

on the middle road in Helwan an amount of 2,750,000 pounds.

Complete:

1. Put the number 2,750,000 in the place value table:

Milliards Millions Thousands Ones

o H T o H T Q H T (o]

3. If the length of the ring road around Greater Cairo is 100 km;
its length in meters = ................ m.

4. If the length of the regional road is 400 km, and the length of the
ring road is 100 km, then the length of the regional road equals
......... times the ring road.



(Parade of Transporting The Royal Monuments )

Egypt was able to dazzle the world with an important event related

to the ancient Egyptian monuments. Where royal monuments were
transported from the Egyptian Museum to its new location in the National
Museum of Egyptian Civilization.

Complete each of the following:

1.

If the distance that the parade covered is 7 kilometers , then this
distance in meters equals..........

If the dimensions of one face of the monuments transporting box are
1 meter and 7 meters, then the perimeter of that face =

If the number of spectators for the parade was around one milliard,
five millions, and fifty six thousands all over the world. Then the
standard form for that numberis: ...........................

If the parade moved from the Egyptian Museum at 8:00 pm and
stays 40 minutes in its path to the end. Then the time that the parade
arrived at the National Museum is ....:.....pm

3)



(Giza Pyramids)

Student’s name: ..................
Class: ...coovvviveiieinnn,
While visiting Giza Pyramids; with the help of the tour guide, you

recorded the following data:

1. The height of the Great Pyramid (Khufu) 149 meters = ........... cm.
2. The mass of four stones was calculated in kilograms; It was as
follows:
8,092,561 ¢« 9,208,111 « 7,534,786 « 8,650,336
The ascending order of the mass of these stones is:

---------------------------------------------------------------------------------------

3. If a stone covers a rectangular piece of land 12 m length and 5 m
width, then the area of that piece of land = ................ Square
meters.

4. During your trip if you ate 5 sandwiches for lunch, and the price of

each one is 20 pounds, then the total price = ............. LE.
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The Rams Road

Student’s name: ..................
ClasS: oo,

Omar and Laila watched the celebration of the reopening of Rams Road; so
they collected information on this road which links Karnak Temple in the north with

Luxor Temple in the south.

Help Omar and Laila to finish the following task:
1. The length of the Rams Road is 2700 meters and that equals
............ Kilometers, ........... meters

2. If the number of statues that were found was 807 in the form of the head of
the Sphinx, and 250 in the form of a ram, then the total number of statues that
were found = ................ statues .

3. If the base of each ram is in the form of a rectangle, its length is 370 cm and its
width is 120 cm, then its perimeter = ............... cm

4. If the cost of restoring the statues by rams road is 240 million pounds, write
this amount :

In the extended form = .....c.ooeeen......
In standard form = ......ccceeunn..
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(Numbers game)
Student’s name: ..................
Class: weuveeeeeeeieieeennes

Use the following cards:

To find:
1. Five 7- digit numbers:

2. Write the largest and smallest number from the previous digits.
The largest nuMber........cccvvviieieiiiii e,

The smallest NUMDEI .....cuueeiieieeieeee e

3. Approximate the largest number to the nearest hundred thousand.

The number to the nearest hundred thousand ¢ ......ccccocceeennreicncnne.

4. The value of the first digit from the left in the largest number = .......ccccoeeeenee.

5. The difference between the largest and smallest number = ...,
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Journey to The Rams Road

Student’s name: ..........ouun....
ClasS: wovvveeeeeeeieeiinnn,

Both Habiba and Salma wanted to take a trip to Luxor to see the
rams road, so they started searching for transportation means and prices
and they found four ways to reach Luxor (airplane, train, bus, and ship).

1. If the distance from Cairo to Luxor is 670 km, then the distance
between them = ......... meters

2. If the price of going from Cairo to Luxor by the plane (but you will
miss the pleasure of the road) on Egyptian Airlines is 715 pounds, then
the price of going and returning = ................. pounds

3. If it takes 5 days to go to Luxor by ship, then the number of hours in 5
days =......... hour

4. If the bus has 76 seats, and the number of train seats is 3 times the
number of bus seats. Then the number of train seats =
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(1)

(Numhers and Statistics)

The Egyptian state spends on many projects in the field of roads
to facilitate traffic. It also spends on constructing bridges and tunnels

on the middle road in Helwan an amount of 2,750,000 pounds.

Complete:

1. Put the number 2,750,000 in the place value table:

| Milliards Millions | Thousands Ones

0 H T o  H T 0 H THlNo

\ 2 7 1lslolololal
2. The decomposed form for 2,750,000 is:

(2% 1000,000) + (7% 100,000 +( 5x10,0007)
3. If the length of the ring road around Greater Cairo is 100 km;
its length in meters = ................ m.

4. If the length of the regional road is 400 km, and the length of the
ring road is 100 km, then the length of the regional road equals
......... times the ring road.
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Class ---------------------------- WWIW. EXAMN-E4.COM

Egypt was able to dazzle the world with an 1mportant event related
fo the ancient Egyptian monuments. Where royal monuments were
transported from the Egyptian Museum to 1ts new location i the National
Museum of Egyptian Civilization.

Complete each of the following:

distance n mefers equals 7,000 meters

2. Itthe dimenstons of one face of the monuments transporting box are
| meter and 7 meters, then the perimeter of that face =

(1+7)x2=°16" eters. or 1+7+1+7=16 meters

3. If the number of spectators for the parade was around one milliard,
five mulltons, and fity six thousands all over the world. Then the
standard form for that number 1s: ... o0 we 5000+

4,11 the parade moved from the Egyptian Museum at §:00 pm and
stays 40 mmutes m 1ts path to the end. Then the time that the parade
arrived at the National Museum s ..........pm

8:40 pm

ONAN0NNNRNRNRNRNNNNONRNRNRARNRRRNNNINRNININANINaRNS
el (G2
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i I If the distance that the parade covered 1s 7 kilometers , then this
4
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Student’s name .................
Class: oo
While visiting Giza Pyramids; with the help of the tour guide, you
recorded the following data:

g

:

:

:

:

:

L ]

:

i

i

' . . —

: . The height of the Great Pyramid (Khuf) 149 meters 1o ™
i 2. The mass of four stones was calculated 1 kilograms; It was as
i follows:

H 8,092,561 « 9,208,111« 7,534,786 « 8,630,336
&

i

:

:

]

:

i

:

:

&

:

i

:

The ascending order of the mass of these stones 1s:
7,534,786 ‘8,092,561 8,650,337 ' 9;208;111"
3. If a stone covers a rectangular piece of land 12 m length and S m
width, then the area of that piece of land =12x5=60.... Square
meters.

4. During your trip 1f you ate 5 sandwiches for lunch, and the price of

each one 15 20 pounds, then the total price IeINE.

R A A A 0 I R R R o A D A AR A O O I e e e o D D I A O I I R R o o D D o A A I I D I i o O D o U A O I D R R o O D A A A O S D R e A A A
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el goa



SR80 R0 00 RRRRRRRRRRRRRRRRRRRRRRRRRRRIGRRIRIRYS

skl olediall r{‘

The Rams Road i exam-eg. c{)m

Student’s name: ......coucevernen,
i e

Omar and Laila watched the celebration of the reopening of Rams Road; so
they collected information on this road which links Karnak Temple in the north with

Luxor Temple in the south.

Help Omar and Laila to finish the following task:
1. The length of the Rams Road is 2700 meters and that equals
%..........I(i!umeters, J00  meters

2. If the number of statues that were found was 807 in the form of the head of
the Sphinx, and 250 in the form of a ram, then the total number of statues that
were found = ................ statues..

807+250=1057

3. If the base of each ram is in the form of a rectangle, its length is 370 cm and its
width is 120 cm, then its perimeter -980  ¢m (370+120)x2=980

4. If the cost of restoring the statues by rams road is 240 million pounds, write
this amount :

In the extended form = 200,000,000+40,000,000

In standard form = ... ceesrnee
240,000,000

|
|
|
|
i
|
:

|
:
%
|
i
"
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(Numbers game)

Student’s name: ....ovcvis
Class: overernrerersrensens

Use the following cards:

To find:

1. Five 7- digit numbers:
1,245,639 2,986,654 4,125,986 8,965,421 9,865,421

9,865,421
BT oty 1) o A A O —"

1,245,689
The SMallest NUMDET......ccvv s eseercseerresssrerseseessessenssaens

3. Approximate the largest number to the nearest hundred thousand.

The number to the nearest hundred thousand ¢ 2,200,000 .

9 ODO 000
4. The value of the first digit from the left in the largest number =

5. The difference hetween the largest and smallest nUMbBEr = .. sessmssanne

9,865,421- 1, 245,689 = 8,619,732

R A A A 0 I R R R o A D A AR A O O I e e e o D D I A O I I R R o o D D o A A I I D I i o O D o U A O I D R R o O D A A A O S D R e A A A

!
&
i
4
i
&
'
i
&
'
i
:
! 2. Write the largest and smallest number from the previous digits.
'
&
;
&
&
i
&
i
&
&
i
&
&
;
4
&
i
&
E
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Journey to The Rams Road

Student’s name; ...
Class: oo,

Both Habiba and Salma wanted to take a trip to Luxor to see the
rams road, so they started searching for transportation means and prices
and they found four ways to reach Luxor (airplane, train, bus, and ship).

1. If the distance from Cairo to Luxor is 670 km, then the distance
between them =......... meters

jij
;
i
2
i
§
g
2
:

miss the pleasure of the road) on Egyptian Airlines is 715 pounds, then
the price of going and returning = 1430..... pounds 715+715=1430

3.Ifit takes 5 days to go to Luxor by ship, then the number of hoursin 5

03YS =........ NOUI
V 120 <9——g 5x24 = 120 hours

4. 1f the bus has 76 seats, and the number of train seats is 3 times the

"
§
"
:
:
:
:
:
:
%
:
:
%
:
;
:
E
2. If the price of gaing from Cairo to Luxor by the plane (but you will :
é
:
:
:
:
:
%
:
:
:
number of bus seats. Then the number of train seats = i
:

o

"
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(1)
(Numbers and Statistics) | %
Student’s name:............. Lo WVI 220

TheEgyptian sate spendson m any projects in the field of roads
to faciliate traffic. Ttalso spendson constructing bridgesand tunnels

on them iddleroad in H elwan an am ocunto ./50,000 pounds

Can pkt=

|/Mlllla_rds Mll!_klns ! 't’hou'sz_mds i {’
% oL iRl goR] W [ T [ o |;
| 2 | 7|5 I O
2. Thedecom posad form ﬁ:)l;z 450,000 = o

3. If the Jength of the ring road around G reater C airo is 100 km ;

its ength N m eters= fogween -
kngth IO (P Xlmw @
4. Ifthe ngth of the regionalfoad 15400 km ,and the kngth ofthe

ring road is 100 km , then the length of the regionalroad equals
..Q..._.Times the ring road. =

—_—

(2)



(5)

bers
Student’s name: .....cocceeeeeenn,
Class: cooiiiriinnennnncenenne

Use the following cards:

OIDV 1/8[9]2(6(5]|4
r\[\Toﬁnd

1. Five 7- digit numbers:

( 45484161542, 6508.197, 458 L4 A4, 290( 9, 865,92

? 'Jl J.7 2. Write the largest and smallest number from the previous digits.

\ )/
7/)}%(? The largest number.. 4 866} C/Z[ N ﬁ
()';' The smallest number...f.,...._z._.ggf.ggﬂ ................. /70 /

-~ q -
3. Approximate th@number to the nearest hundred thousando.(‘} f ((‘U;Aﬁ _c.a/u:

R The number to the nearest hundred thousand ¢ q G[ICD/ DS
;‘;v()l 4. The mf the first digit from the Ieft in the Iargest number = q? GQQ/OOO
7

5. Th{dlfferenceletween the largest and sn)allest number = ?,/ ,(Q,?*?Z
O T T

P o WETE
y) 1,245,684
S (7 g, 419,732

(U”
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The Rams Road

Student’s name: .................. (j/ @Ia//

Class: .uivevivrreneeriesnnne

Omar and Laila watched the celebration of the reopening of Rams Road; so
they collected information on this road which links Karnak Temple in the north with

Luxor Temple in the south.

Help Omar and Laila to finish the following task: { K - @
1. The Iength of the Rams Road is 2700 meters and that equals

—

2. If the number of statues that were found was 807)|n the form of the head of
the Sphlnx and 250 in the form of a ram, then the total number of statues that

were found = 7057" statues .. ' XO ? + 2So ‘—K 05 ;L

3. If the base of each ram is in the form of @@ its ength is 370 cmand |ts
then |tm ............... cm

’F- [L+wWIY 2= [.??v:}'- J29] X quqo Z
4. If the cost of restoring the statues by rams road is 240 million pounds, write NJ

this amount : 2 4/0,()0 /000 Cj g oM

In the extended form {2/@0000,00 o + (7/0/00 Q00 O

In standard form = ....oveeeereenne
2%/ Ooo/ oo



)\()\"}D‘ G iza Pyram is)

Student’s name: ......ccoeveueeene

Class: .cocoeeveerierennine
While visiting Giza Pyramids; with the help of the tour guide, you

recorded the following data: X0

423 Z

CW \ 529 14900

1. The height of the Great Pyramid (Khufu) 149 meters =........... cm.

2. The mass of four stones was calculated in kllograms It was as

follows: 2 a’J A lﬂ r‘f j;?;,%
80925 ¢« 9208111 7,5 86 865

The ascending order of the mass of these stones is: g _’ I
l

L5y 76 Qo258 < & 659336 « G la
_’7_3 If a stone covers a(rectangular}pwce of land@length an@__

@ then the area of that piece ofland = 6 .......... Square
meters. AZ*W-*72/\’5 50 m

—

4. During your trlp 1f you ate 5 sandw1ches for lunch, and the price of

fA:_ZOz lo o
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(Parade of Transporting The Royal Monuments )

Egypt was able to dazzle the world with an important event related
to the ancient Egyptian monuments. Where royal monuments were
transported from the Egyptian Museum to its new location in the National
Museum of Egyptian Civilization. Aoo ?

- ()
C om plete each of the follow mg: W/’_\
—7 \/
1. If thd di e that the parade covered is 7 kilometers , then this
distance in meters equals. .'Z/-&Oc) m

2. If the dimensions of one face of the monuments transporting box are
1 meter and 7 meters, then the @enmetef of that face =

r/ '....metersc’-—’ [L-f—b\/j X2 C:F‘(' 'jX’Z_ ?XZ,'

3. If the number of spectators for the parade was around pne milliard, 76 ™
five millions, and fifty six thousands 11 over the world. Then the

W—Wmns ....... ((@@5 Qgg OO0

4. If the parade moved from the Egyptian Museum at 8:00 pm and
stays 40 minutes in its path to the end. Then the time thaf the parade
arrived at the National Museum is g £4apm

joo
e

G)
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Journey to The Rams Road

Student’s name.: ..................
ClaSss.oociissitiaiititinn

Both Habiba and Salma wanted to take a trip to Luxor to see the
rams road, so they started searching for transportation means and prices
and they found four ways to reach Luxor (airplane, train, bus, and ship).

1. If the distance from@to@when the distance

between them = ......... meters X Jooo
— M
r /'}Zo 0D
.;)\ 2. If the price of going from Cairo to Luxor by the plane (but you will
6 miss the pleasure of the road) on Egyptian Airlines |then
\ the price of going and returnmg T rreeeeneennnns pounds
409’ S e /5 = 14Fo Poneels

3. If it takes(5 day} to go to Luxor by ship, then the number of hoursin 5

7"‘) days =......... hour )(__7_(_{ @
w7y sr2Y= 1%
(/ 4. If the bus haq{ 76 seats) and the number of train seats is(3 times he
number of bus seats. Then the number of train seats =

22g .............. seat
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